EE 120: Signals and Systems

Department of Electrical Engineering and Computer Sciences MIDTERM 1
UC BERKELEY 20 February 2020
FIRST Name Yo ulve LAST Name Been

Discussion Time: B3 & bal v LA SID (All Digits): e i

e (20 Points) Print your official name (not your e-mail address) and all digits of
your student ID number legibly, and indicate your lab time, on every page.

e This exam should take up to 100 minutes to complete. However, you may
use up to a maximum of 110 minutes in one sitting, to work on the exam.

e This exam is closed book. Collaboration is not permitted. You may not use
or access, or cause to be used or accessed, any reference in print or electronic
form at any time during the exam, except one double-sided 8.5” x 11” sheet
of handwritten, original notes having no appendage. Computing, communi-
cation, and other electronic devices (except dedicated timekeepers) must be
turned off. Noncompliance with these or other instructions from the teaching
staff—including, for example, commencing work prematurely or continuing beyond
the announced stop time—is a serious violation of the Code of Student Con-
duct. Scratch paper will be provided to you; ask for more if you run out. You
may not use your own scratch paper.

o We will provide you with scratch paper. Do not use your own.

e The exam printout consists of pages numbered 1 through 10. When you

are prompted by the teaching staff to begin work, verify that your copy of
the exam is free of printing anomalies and contains all of the ten numbered

pages. If you find a defect in your copy, notify the staff immediately.
o Please write neatly and legibly, because if we can’t read it, we can’t evaluate it.

e For each problem, limit your work to the space provided specifically for that
problem. No other work will be considered. No exceptions.

o Unless explicitly waived by the specific wording of a problem, you must ex-
plain your responses (and reasoning) succinctly, but clearly and convincingly.

« We hope you do a fantastic job on this exam.
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MT1.1 (50 Points) Consider a

p linear discrete-time system H, about which we know—
o

I every integer k—what the figure below depicts.
§(n — Linear

I —»‘ H - hi(n) = aFlu(n — k)

(-l<a<]l)

In this problem, it may or may not be useful for you to know that

1) o (2)

1 ) N o ,
-1—'——0.’ lflal<1 and Zal{ a—1 lfa?él

N-M+1 ifa=1.
N
< Zlakl and
k=1
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< olal, i Y farl < oo
k=1 k=1

(a) (10 Points) Show that the output y, in response to a more general input z, is

+o00

Vn € Z, y(n) = Z z(k) hi(n)

k=—o0

v = H{x)(n)= H[\"” “ x(K)Sn- lq}

Z‘K"’- ¥ L) H‘ Slr- k-’] Ll!ﬂ(wfb)
= 5100w by () Lgiven)

(b) (10 Points) We apply the unit step as the input—z(n) = u(n). Denve a reasonably-

simple, closed-, farm expression (no summations) ;gr the output y(n (a) 4 ded
VIR -—Zk__;g@l«d@ =D \pe k) [ o1 um]
= ‘Hu(n -k O f nKk<0.= o If
k=p ‘7 K> n
no K (\o o = K= 'CB
. _ ol &
4 \pf(A CZ)} Since \< ‘
/ ) e aﬁly valid
Since ex eSSt en !
' ,E iO/ O/w Tj'j o:ﬁ$

g _\_v s a—d
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(c) (10 I?oints) Select the strongest true assertion from the list below. Provide a
succinct, yet clear and convincing explanation.

(i) The system must be time invariant. (If so, give a proof.)

(ii) The system could be time invariant, but does not have to be. (If so, specify
every additional condition needed to make a determination.)

(i) iI he system cannot be time invariant. (If so, give a counterexample.)
S-Molinj in S Frodutcs l'\at'ﬂ: ulny,
N SLV\~D Fraotuce.s ho(n> = oLuln1d.

' v ot .Sam’g (/
We Olblax/ul pur mru‘\’ 4
but ro¥he Hon 5(,%‘::3 the Same au’r‘:u-l-
A e l&\/ el by ot Sa MVLC/ U ( ’\"Z lue 50-"

Oéul(/\flsj wt’\l‘bl‘\ I d;-r-(‘Lr-m”' S;AICL "'I( K(’-
Tlf\qu He S\f&‘[‘fn—\ 'S '"}‘;me.'VWy 1Nne

(d) (10 Points) Select the strongest true assertion from the list below. Provide a
succinct, yet clear and convincing explanation.

The system must be causal. (If so, give a proc;f.)

(ii) The system could be causal, but does not have to be. (If so, specify every
additional condition needed to make a determination.)

(iii) The system cannot be causal. (If so, give a counterexample.)

From (o, smd Mo Pact T Hat L\ku\):oﬂk'utn«k\/

Yy = Z::_ XU )= 2::_00&\\<qu DN

— n O(lk\ S;ﬂCL U‘Lf\‘-kB:O ~I‘g
‘Zlﬂ'ﬂ KL <n—|<<0 & k>

C’laN[“// y{n) oLL‘)CJ‘&L? only, on. pa.s{ and
rPrc se~t .‘nlw+ Vv aluet (X(nﬁ/ )((.A—I\/ x(n~1)/ - )

— 4t Syskm WS CavusSal.
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(e) (10 Points) We apply a bounded input z to the system, such that a positive
quantity B, exists for which |z(n)| < B, for all integers n. Show that the system
is BIBO stable. Specifically, determine the smallest positive quantity B, (based
on the limited information given about the input z), such that [y(n )| < By
for all integers n. To receive full credit, you must derive a reasonably- 51mple,
closed-form expression (no summations) for B,, in terms of B; and a.

S-f—w-bj with Hre rf-SuH- Sl (a) and
amyymﬁ M -{-na,.jh, imiuali"'\/ Ce%n. (4)) :

ye = | 3o X(KY hie ()

= =-p0 '
— l Z o7 . )((k)a«”‘ u (n=I)
i Ikl
= \Z[Q=-o¢‘ XUk) % ‘ (1), and
< ST ) oz K| \AB| = 1Al - IR
- ’___EK::-!"}‘:
" o Civen Hhat
£ Z ’:-ch Bx ' [t £Rx VneZ
: o A e By dees pof
- BX .L_lkz-oaio/\ l ( J\qud on

N"Jt ’Lf‘“'f‘ ol A= Lpo WL add Mere anef
7
hore /o< ’H/ J\er_g; Whieh Are all ’\o/\—r\chf\‘v:,

Se ‘l"b U‘;Fq- L>°U"o{ IY(I\B' Vr\/ We must I‘ncluz}c

ol 'lepmg K=-00 to +00 * NP
k! =\ - .
|y(n)l = BX ?.a D(\ ‘ lolk“li_“__ér_;_'__e(’
"'55
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MT1.2 (65 Points) Consider a causal, DT-LTI filter H whose input-output behavior
is described by the linear, constant-coefficient difference equation (LCCDE)

y(n) = ay(n —1) + (1 — a) z(n), for some a € R,
where z is the input and y the output.

(a) (15 Points) Show that the impulsé response of the filter is given by
VneZ, h(n)=(1-a)a"un),

where u is the unit step. Also, determine a reasonably-simple expression for
h(n) in the special case o = 0.

termine 2 reasone2 Y
T8 w=o0 ylm= O-ytn-D + (I - 0) Xty =xtn)
S WA= GUd ke idenbly Syske.

Mor generally, we Set LiA)= SRy, y=hin)
ond hinY=p WYN<D }"”Y causah‘-\-\/J So -

hiny= o) + L1 =e)Sin)
— ( — L\"‘°<>‘ : R - .
—\? rt:?:-atlnto}-:— (1 =00 KN!‘!):( - A:W uln)
h2) = oLln£13=oLZU*aL)?\ since  hin) =0 Yn<o
W= kbl =), € 2

(b) (10 Points) Determine all the values of o for which the filter is BIBO stable.
A D‘T—LT’ S\/Sf-f—n\ widh \'M'oul_Sc. HSPDASe_ I

is  RiIBo steble F kIS absilokly simmable:

o2

2 k(| = i - oy ulnd| = ||_.'0L| Z'_\"’dw
R=-30 n=o

T L ipe el
— =] - rp—y '

= Filk~ ¢ BIBo stable Yo e(-l, l)J ve lul<]

(S;ncc e cSSume A é/f'

However, the above answer is not complete—when alpha = 1, h(n) = 0 identically
since 1 - alpha = 0, so all alpha in (-1, 1] make the filter BIBO stable.
5
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(c) (10 Points) Suppose « is such that the filter is BIBO stable. Show that the fre-
quency response of the filter is

V&)GR, H(w)=1LO—t_-u-;
= Ve

bet xtnd= oW then y(Nd= H(wﬁﬂiwﬂ

by the  egeafunition properdy of LTI Syshons:

HEw) o8 = o HEad ™ 4 -y e™
= HW) (P P e™) = (o) 2

= Hudy= 7%

\ — 2 e W

N

(d) (10 Points) We apply as input to the filter the signal z(n) = 1 + (—1)" for all
integers n. Determine a reasonably-simple expression for the output y(n).

x(n) =] (- = &LOV\ + &‘—Tr"‘j now uSe the

&‘f)c,n-(f—z/i'm. Profuf‘j 0l h‘w.&rﬁy 4 obloin-

y (") = H a':o“ + H UTBe,LTr"
— —~——~—
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(e) (20 Points) On a single graph, and for -7 < w < +m, provide a well-labeled
plot of the | H (w)| for each of @ = 0, @ = 0.2, & = 0.5, and o = 0.8.

For =0, Hlwd =] VYw; as o —>| H
Lilder Pu»ls wore ww'_c)h‘r on Yln-10)

RVETS .Skhf‘ (W
o\nrA le s on X(n\/ 6.\/‘2 ,HIQIP:' Vo(_é[a/ ’)‘
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MT1.3 (65 Points) A delay-adder-gain (DAG) block diagram implementation of a
causal DT system H is shown below, where z and y are the scalar input and output,
respectively. The state variables ¢, and g, have been labeled for your convenience.
A state-space representation of the system is given generically by

g(n +1) = A g(n) + Bz(n) 1)
y(n) = Cq(n) + Dz(n), . ; )

where Eqns. (1) and (2) are the state-evolution and output equations, respectively.
(n) ‘ ‘ -

72(n) -
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(a) (25 Points) Show that the state-transition matrix is the rotation matrix
_ |cosf —sinf
" |sin@  cosé
and also determine B, C and D in Eqgns. (1) and (2). [ )
l N

From Hre diaj(‘am, We Cee (n)= x(n)
=> D=1 Cscaler)) ord [ =T 0] \

c.c_c -H,_¢ Aia fom o ﬂ'SD See -

B rea din
7 j (f'\) - 3N 9%2_ U‘\ + X(f\B

CLl(J\"“lS—- LOSe ‘1,[

CL?_U'H): sin B L.l (n) + (,05(917_(,/\)

L "‘F‘D e l r

Wt ch [ A A e e 1
g, n+>)_ [eos & in® [‘L:U [ x(n)
szo = |sr e coco [[q2ln)

W W)

COSQ -Sin B

== [, s e
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(b) (25 Points) Show that the state of the system at each of times n = 1,2

n-1

q(n) = A"q(0) + ) A" *"'Bz(k)
k=0

and the output is y(n) = CA"q(0) +§CA“'k'le(k)+Da:(n)
Also determine the impulse response h( ) of the system. _
We lknow. q(n)=Agqa-1) +Bxt= - = cl,(rB—Acl,(c;;;}
CL(Z.) Aﬂﬁ“)-i— By = A(ALLLLQ-\L 3 X'UQ)"'BXU) A* 7,(03 +FAB x4 Bxtd
q’('sb Aal,L2>+ Bx(zb.A cI,LD§+A Rx(ed+ ABx¢N DXO.,_)

A~k —|
a)'{,rﬂ- A" $Lo>+ A’ B(k) -

for n=l 3 .
_m:‘_nﬁ\ﬂl(n) = —i ;l;_(/\) ) D X ( 1) e »_uS‘i;!"j vbcv't P!—SUI+ ‘F‘” ‘1,-"‘5
ve=C {:A (0) +Z, '_"’ - ‘b ﬁk"& DXCED /S tn e mabrix
i~ o oy e b h P e
CA %LDB-‘r Z;r. > ”_,.,"." i kf‘ (k> + DXL ‘) uhpfﬂfovf:
= % -\h-——-\
For‘ e rufv/.SL el M-_, /\’f) o ") iw)h [J s q_ M'ﬁ"”)é .
i /A/z,’ﬁ D CANTETRSEY + D Sia) '
uln o) + = ‘
é&r\ L\U\) G Zk ° _ G o1 fcm_fn -NB) =sia( (1)) Slﬁ)
W )/\U\() = (. AN [é + D SCI\\ QFr’M-ﬁB) col (Ca-f) B)
CavsaT™ [ | (p) = cm(tn—ﬂe)“("‘)\ + g*">€ SinL, ‘""i"’*,.m,tak
"‘"“‘_Tc) (15 PomFTSuppose The Input z is zero for all 7, but that the system Lasanon— (,,._',J) %’
f" W?\ wJ - zeroinitial state g(0). Determine a reasonably-simple form for g(n), the state
C L\M‘ v vector at time n. You should not have to do much work to find the higher
e fA.
)(AN\ Wad powerso

k-
%m [ ‘W‘)'A "q L0 w//‘ﬁm

v e
Cos O -Sin 9 | - CO.S(A 9) —S,‘n(na) I
€O Cos B D) cinln B) o

cosSln 9)

Since A rotales LY @/

AN rotaks b, N6
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